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PMZZ[B 1 Cross off the notes in this list as you go:

THE MISSING NOTE

A A~

Hector and Miguel share a passion for music, so they spend
alot of time singing and playing music together. They are
rehearsing a song, but have encountered a problem - the
song 1S missing the last note

C D E F G A

Find the path that connects
the two singers, and discover
which note is missing!

The missing noteis: ...



Puzzle 2
HERCULES AND THE HYDRA

Hercules I1s battling the terrible monster Hydra in the cave
where it dwells. At the start of the battle, Hyrdra has only one
head, but each time Hercules cuts a head off, three grow in

ts place He has already cut off twelve heads

How many heads does Hydra have now?

Heads in
total:

Use this space If
you need to work

it out on paper

Puzzle 3
I'M LATE, I'M LATE!

It's always “late” for the White Rabbit, and he's always

checking his giant watch! Right now, it's 5:00 pm. The White

Rabbit’s next appointment 1s in 100 hours' time but he IS

already worried about being late!

1. How many
days is it until his
appointment? ...

2. What time
willitbeat? ...

e

Use this space If you need to work it cut on paper

|



Puzzle 4
MEMORY SEQUENCE

During a test, Anger got into a iight with Fear, and that
messed up Riley's memories. Luckily, Joy has a solution!

Start from memory O and plot the right path.
Remember: each memory is equal to the sum
of the two previous ones!

Use this space If you need

12

FINISH

START
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Puzzle 5
THE GREAT RUG RACE

Woody has come up with a great idea to have fun with

i L

his toy friends. a rug race! But just aofter they cross the

finish ine, the toys hear Bonnie and they freeze

Can you work out the order they finished in?

Bear in mind that:

Woody Hamm

fnished finished
WO places right after

before Buzz Woody

4TH
)

5TH

Buzz Rex
finished hnished
two places last

pefore Rex

Use this space iIf you need
to Work It out on paper



Puzzle 6
HEAD IN THE CLOUDS

Rapunzel and Eugene usually take a long walk through
the streets of the kingdom, and they like to stop and look
at the clouds One day, they notice that there are clouds

~e sy ~ 3 ~ 7 et F . e~
resembling their dearest friend, Pascall

WA

Count how many

clouds in the sky are
Pascal-shaped!
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Pascal-shaped
clouds in total:




Puzzle 7
REMEMBER: Th b i f igh
A GHORT C'RCU'T! to left and vicee\:\:rr;? f(i'cc];r\n tfo\;\:g:rt\et'; t'::f:lc?mt

top to bottom, and also diagonally.

Look for them in the grid below, and count them. 6 times is “WALLE"

How many
repeated?

WALLELLAWW

ALWAILLEWRAWRA @ A .. ...

1y V) (A Y (D) () & () & (b

Y (&) (Y W) (A) @y WY () @ UL

) () ) A WY (B A (A (B (E

W (L) (B (L) CL) A W) () W) (E

A A LLELLAWL

L) Y (L) WA WY) (A (LY () (B L

L L L AWAILILEA

) WY CA) () (L) (B (LY (LY &) WY




Puzzle 8
MAKE A WISH J ;

In Agrabah, many characters come into contact with the lotsof AR ...........
magic lamp and have the chance to be granted a wish.
Can you work out who wished for what?

Use the numbers to connect each
character to the right wish.

------------

To be free
to choose
who to , B s
love. / : To become

a prince
and marry
Jasmine.

............ become
rich.

To become
the new
sultan of
Agrabah.

To find a
husband
worthy of my
daughter.



Puzzle 9 ool A

FINDING RELAXATION -

Marlin is a little tired, and Dory invites him to go on holiday
with her. Any destination is fine. The two friends don't
have major requirements ... but there's one element that
absolutely can't be missing

Join different-shaded pieces of the puzzle to form
the right word and find out what Marlin and Dory
can’t do without.

CA SN WA MO

RE TO SH

A

Use this space If you need to work it out on paper




Puzzle 10 Puzzle 11
WI-FI AT FOLL THROTTLE FOOTPRINTS IN THE SAND

Wi-Fi has been installed in the arcade to connect the On a beautiful sunny day, Moana is playing a game on

games to the Internet, but it isnt active yet, because a the beach with Helthel and Pua

password must be entered hrst

i Can you complete the sequences in the grid with
v . the footprints, bearing in mind that no row, column
or diagonal can contain four consecutive matching

footprints? There are two possible solutions!

:-~ “. ?

Use logic and find the correct password, bearing
in mind that it is the only word written twice in the
displays below!

What's the
password?

24 25



Puzzle 12
WORDSEARCH | CANNELLONI FARFALLE FUSILLI

Find the hidden pasta names GNOCCHI LASAGNE LINGUINE
in the grid. They can be
hidden horizontally, vertically
or diagonally, and can read MACARONI PAPPARDELLE PENNE
from right to left or from left
to right

SPAGHETTI TAGLIATELLE TORTELLINI

C
A
P
E
E
C
S
T
I
S
P
E
Q
U
I

VD Z—-—rr—nCcCmmwn —mDp —
TM - —-Q0r—-——40Q0-ArrZrx
mmMmMoOoOIIApMmMrEFPDPOFRZF — —
Z2r—-ZonNn0-0unw-000O0
OmMUPTVZp-—40DTp-—Aprunuc
- =--QQ>NP>PZArrQ-——->>
APV —=TDPDPMOMEFr-AZ2Z0
O -p>PZ2Z2 0V CIIZI9r—0mMmD>p
Z2rmp - QOQmZONnpr unOl
ZQO UV —=—>TD>DP>PTDPDrr —-Cc -

V- nzZmMmMZC-QQZ—MMFrM — —
—F=0VCTApPpIMPprrmoC

= 27



Puzzle 13 -
THE GREAT ESCAPE e

Remy, Emile and their dad Django are in the kitchen of a

well-known Parisian restaurant. Unfortunately the chef [ B>
doesn' like rats very much. They need to find a way out,

and fast! Help the three rats escape!

REMY EMILE DJANGO

You can only move vertically and
horizontally, never diagonally.




Puzzle 14
MONSTRO
All the whales

les on this page are identical apart from one

& ' G’ G
oy S’ B B
A A A
A A A
B 666
A A A

D O G Qi
@’ S Gy’ O
Gy @& Gy G
A A A
S O G O
G O G @
&y G Oy @y



Puzzle 15 Puzzle 16
A BERRY SPECIAL DAY | CODEWORD

T [ 1 ' [ 1 ( ' [ t
1l ' I [l i A ) v [ L |
' v ¥ 1 r 1 1 ' 1t
| i A e i t [ I At TS i ] L L P

their friends Meeko and it ate many berries in secret! Read | for you. The words t “H;t‘15~¢‘i<r>:».4:. apart
about what happened below and work out how many ‘romone - can you fill in the grid?
berries are in Pocahontas and Nakoma'’s basket now!

3 letter words 4 letter words 5 letter words 7 letter words

s ASKS Aging Couldn't
’ Gems Apr Extends
N Focahontas and Nakomas basket there wersi o

W tchen

) I d N1 \ = -".‘: : }
100 raspberries TwWo Horse Meeting

tly Meeko managed to eat 35 in a row union
8 letter words

| a1l ACeqUalE

nmediately arter, Nakoma collected as many ¢ |16 j24 116 A LA Co B C O Eo B AL RO R Annoving
raspberries as Meeko had eaten, © I — . - - o " Finances
- ielicious blueberries — 7 to be precis T s T e B e HOstages

10 letter words

BuUsSINesses

Eventually, Pocahontas collected a raspberry
and a blueberry for every 5 raspberries
Meeko stole a second time.

i % 12 letter words

15
16 . 15 16 Accomplished
14 16

(
.- |

Increasingly

( L} 16 1 1t 16 1
26
Berries in total: S L bl ol ol R ELl L o b
Raspberries ............. : e o -
Blueberries .............
nel | I} ‘ | 1 el e
1 2 3 1 5 6 7 8 0 1 1 1




Puzzle 17
BABYSITTER DORY

Dory promised Mr. Ray shed look after his seven little
pupils, but today they are nervous and often quarrelling
0 avoid squabbling, Dory should split them into different
seq areqs, separated by seaweed. Carefully read the
rules below and find the correct distribution!

ﬁ_ w .. \"Cb’ .‘(y.x S 1‘33
L&

Rules: Going from left to nght,
eqach area must cor
pupils than the previous one

Example: The solution

o ther :jjf‘l! doesnt work \».‘b‘-

The marked area doesn't o
have more pupils than ’;t ‘ .
the previous one, an a ..

there 1s dlready another e

arega with only one pupil

Fill in the number of pupils in each section below

*:%

Puzzle 18
A MOUNTAIN OF NUMBERS

Anna and Elsa are trying to reach the top of the
North Mountain, but finding the right path in the

deep snow isn't that easy!

Example

Fill in the empty boxes,

33 bearing in mind that the

1 4 number in each box must
16 17 be the sum of the two
numbers underneath it.

61

13 18

LR R LR L R




Puzzle 19
LET'S MAP PETER

Captain Hock and Mr. Smee have decided to draw a map
of Peter Pans movements. They've discovered that his
movements form a large square - in fact, more than one!

and count how many

Look at the grid opposite k
squares there are. L (i

Squares
in total:

36

Be careful: There

are squares of many
different sizes and
each one could contain
others. In the example
on the right, there are
five squares: four small
ones and a larger one
that contains them all




Puzzle 20 Puzzle 21
SMALL AS A FLOWER TWO HEAVY SUMS

In Wonderland, it's easy to lose all sense of scale! Right Hercules 1s a true hero: clever, courageous and very
now, Alice is 20 inches tall Find the correct sequence of strong. Number each block using the six numbers on
calculations to bring Alice back to her normal height of the nght. The sum of the three blocks he's holding with
5leet and b inches Remember there are 12 inches in a foot! his right hand i1s equal to the sum of the three blocks

he's holding with his left hand You can do it... if you
rotate your point of view!

1 Shrink Alice by 10 inches
2 Halve Alices height
3  Multiply Alices height by four

4 Make Alice grow by 30 inches

Y

The right sequence is

Use this space If you need to
work it out on paper.

39



Puzzle 22
WORDSEARCH

Find the hidden words in the
grid. They can be hidden
horizontally, vertically or
diagonally, and can read from
right to left or from left to right.

VS®SAXrumumZ—oOND> <
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>TONIDIMSOTITCO<XT-m



Puzzle 23
ALADDIN'S GREAT ESCAPE

Jafar craves control of the city of Agrabah. He accuses
Aladdin of a crime he never committed and orders the
guards to capture him!

Carefully read the rules below and find Aladdin’s
route out of the city.

Rules:
The guards wil
arrest Aladdin if he
Crosses a square

N their ine of sight
The example in the
first row of the qnd
indicates where the
guard is looking,
and the Xs show
the sguares Aladdin
can't move through

Move honzontally
or vertically and use
the buildings to hid
from the guards’

If you can't move In
front of the guards’
ine of sight, you can
always move beside
or behind them'

-

FINISH 43







Puzzle 92
MADAM

Madam Mim enge
This time she has I

The odd one out is

LT T R T T E T i

because

/.\’:) (A} t‘)(‘)r]tls‘ ] LA AR R R R RN ) 2 L AR R RN
can you name

five animals 3

[hOt r\ACX'O ‘,.n I TR RN Y

Mim transforms

herself into? 4




Puzzle 93
MATHEMATIC SUDOKU

Fill in the grid with the numbers 1 to 2 once only In each row,
column and 3x3 square

This sudoku 1s divided into smaller sections, shown with a
dotted outline. In each of these is shown a number that is the
total of the numbers in that section. To help you, four numbers
have been added adlready

15 (4 7 :9 1 12
s . g:'-i ------------------ g-s ------- ; ;.1.7......5 ---- .8. ...................
§'é """" § 112 """" 9 1 - g’h‘ """" A 10
§ . .:‘-A ------------------- 5.1.6 ------- prannnnnnnn ; é -iq4- ------------------
;'7' """"" i.i -------- i-j ------------------ fi.d ------ Wrecccccccney --9- ........ ‘.'.é......é g-i-é---.
H -ioé -------- -1-6 ................... Eo ----------- § ; 2
..9. ........ MENTTIITITO D) B 8 """':é-i-s-------- sesssssmney .-1--3- ------ ...3. ...................
-1--5- ................... g-s- -------- : l.--sn ---------------------- -1-1o ------------------
S2ssansasaspessessantss %::::::::::_‘ ........................................ oy [T Do
10 114 6 14

146

) () [ B0 ) i)

Puzzle 94
LOGIC GRID

Fill in the empty boxes with the numbers |,
2,3, 4, 5, aways following the three rules

A number A number A number must
muist Not must Not not appear
appear more appear more more than
than once In than once In once In each
Qa row a column shaded shape

WIOICIOICIO

147



Puzzle 95
ROBOTS

Can you match each robot with its name?

148

Auto

B.E.N.

DOR-15

Go-4

Omnidroid

WALL-E

B

Baymax

Carl

EVE

M-O

Sparks

Zurg

149



Puzzle 96
THE RESTAURANT

Study the map below for one minute, then cover it
up and answer the gquestion on the opposite page

°= You are here

Chez Gusteau

X

The Bayou

X

Chez Tony X

150

Give directions
to get to the
restaurant
La Ratatoulle
Use the space
below to draw the
map If you need to




Puzzle 97
TRANSFORMATION

Can you Join these [Z)E'OD?G with their

(wanted or unwanted) transformations?

] 2
ARTHUR JAFAR
3 4
KUZCO MADAM MIM
5 6
SNOW WHITE'S
MALEFICENT STEPMOTHER
. 8
MERLIN MOR'DU
5 10
PRINCE NAVEEN YZMA

COBRA

SQUIRREL

LLAMA

GERM

HAG

DRAGON

FROG

CAT

BEAR

CHICKEN



PIAZZ‘B 98 Missing : PMZZ[B 99
UMBRELLAS e THE SEQUENCE

reyry
(
LA A AL L L L LA L L LR | - 9

OJcXoXOXJOXXe)
OJOJORORORCRORC)

Umbrellas
in total: LA LA L AR L AR R LR LR



Puzzle 100
NUMBER SQUARE

Fill In the empty boxes with the numbers |, (s
2 or 3, always following the three rules

A number must not A number must not
appear more than appear more than
once In Q row once In a column.

LR Rl Bl P e mmmmmm-- L L R -

1 - 14 - i3+ '

Each group of squares (shown by dotted lines) must ; i i ;
contain only numbers that combine to equal to the o ; - HH '

) q ' ' e '

r}L”-wae' p.]rwtecx N t}we tCD 'eft Of [f}e hrst 5(‘1\‘]0{@ N Itwe T L I TS Hseesosesossssfocscsscsssssltsccsccccccecnccccnca!
group, by using the methed of calculation shown (x, +, -, <) 13— : EG + E_:1 - o2 - '
- ) c ' ' 10 '

For example, 3+ can be calculated as 3 divided by | E ' iR H B -
: s ik ik :

perrTTTTTITTTTTTTYTY . ' v 00 '

N()1(_§ 'Tr]f\' (J r] 1Py e v J rr - l v E" N B L B aid T T —— RSP SES pp—1 1 M
ote that a number may appear more than 2 1 1 il i (OO e I :
once in a group of squares, as long as the s ; 4 Bl HL R i :
: ; : ; : ' ' '

two rules above are followed, for example: | 1 ; At i i il :
R ’ N O H : M [ '

' O i) iy O .

e e HR HE [ L | -

P - ' '3 tjrommmnnn- NI s lrmmmmnmnnn -

03+ 1 H HE i3 - 110 x ' [ 24 x :

H . 0 1 K o a0 0 '

' 3N il N K th thr '

' s HH HE HH 1K ‘

' 1 F HH H o e :

] ' 015 x : ' it 3 0 '

. 1 o HH ' :

N a0 "y h h '

[ B L NE it (3 0 ]

' B L " th 30 '

] B L ME h a4 '

- Ll Lttt prmmme---- Uk Hremmnmnn- It remmnmnn- ’

FREAmaAEEEEGEm————————— - A (R Rl B

18+ |16 x 16 + :

' " e ]

' d 0 the '

' M th ]

' 1 ths ]

' e th '

' " e ]

L Rl [y - B e U Ty

157
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(nswers

Puzzle |
THE MISSING NOTE

lhe missing note is F

Puzzle 2

HERCULES AND

THE HYDRA

Every time a head 1s

cut off, three grow back,
so that means two more
are added to however
many heads it has Cutting
off twelve heads will thus
add 24. Added to the initial
head, that means the

Hydra has 25 heads at the

moment

Puzzle 3

I'M LATE, I'M LATE!

1. The White Rabbit’s
appointment 1s In 4 days
2. In 100 hours it will be
9:00 p.m. (21:00)

Puzzle 4
MEMORY SEQUENCE

START

Puzzle 5

THE GREAT RUG RACE
Ist: Woody

Z2nd: Hamm

3rd: Buzz

4th: Slinky

5th: Rex

Puzzle 6

HEAD IN THE CLOUDS
There are 8 Pascal-shaped
clouds in the sky

Puzzle 7

A SHORT CIRCUIT!

12 horizontal + @ vertical + 4
diagonal = 25 times

9



Puzzle 8

MAKE A WISH

I To be free to choose
who to love - JASMINE

2. To becomerich - IAGO
3. Tofind a husband worthy
of my daughter. — THE SULTAN
4 Tohave lots of food! - ABU
5. To become a prince and
marry Jasmine — ALADDIN
6. To become the new
sultan of Agrabah. - JAFAR

Puzzle 9

FINDING RELAXATION
Given that they're two fish,
Marlin and Dory need WATER

WA

Puzzle 10

WI-FI AT FULL THROTTLE
Ihe password 1s FELIX
Since there are no two
displays showing the same
password in full, it means
the right one must start with
the letters that can be seen
on the covered displays
None of the full words start
with "MA™ "Q" or "YES,” while
only "FELIX" starts with F,” so
the two displays have the
same password

160

Puzzie 1
FOOTPRINTS IN THE SAND

oY

IRAL
¥

Y YY
Yy Y

Ay

¥

\
Yoy
¥

yYyve
¥

Yevy

Puzzle 12
WORDSEARCH

Il RONWNORACAMTE
AL NNN\G U | NVE)O
L A NAR

mZC-0Z—-rm
-r_-0CE@>PANPrrmoc

- COomMmUOUOWO—-—-0O0OMMD™>»0O

BZErr—-0C Mo W

hd =

Puzzle 13
THE GREAT ESCAPE

Puzzle 14

MONSTRO

Second page, sixth line, third
whale from left

Puzzle 15

A BERRY SPECIAL DAY
Pocahontas and Nakoma
now have 28 raspberries
and 18 blueberries.

Puzzle 16
CODEWORD
HROHAMADA

Puzzle 17

BABYSITTER DORY

The only way to split up

the pupils following the two
rules I1s to have none in the
area furthest to the left, and
then respectively |, 2 and 4
In the following areas
O=1=>2=>4

Puzzle 18
A MOUNTAIN OF
NUMBERS
é)
28 33

Puzzle 19

LET'S MAP PETER

There are 30 squares
one 4x4. four 3x3, nine 2x2.
sixteen 1Ix1

Puzzle 20

SMALL AS A FLOWER

The correct sequence s

3,1, 2 4 20x4=80, 80-10=70,;
10/2=35; 35+30-65. 65
inches = 5 feet and 5 Inches

Puzzle 21

TWO HEAVY SUMS

The sum of the six blocks
s 21 Since 21 1s an odd
number, you can't divide it
exactly by two, so the task
seems Impossible. But if you
rotate your point of view,
the 6 canturninto a 9@ In
this way you can put 3, 4
and5inonehandand |, 2

161



and 2 in the other Puzzle 24 Puzzle 30 Puzzle 33

The sum of the numbers MULAN, YES, MULAN THE DEPTHS OF THE OCEAN A CUP OF TEA
In each hand is then 12 Mulan changes the rule in Marlin sees 21 fish. When There are 10 missing cups
poses 1, 6 and 8 because counting them, pay attention 1-4-7-10-13
Puzzle 22 she uses an extra piecel to those that always swim in
WORDSEARCH pairs and the three next to Puzzle 34
Y N K W E Puzzle 25 each other that look ke one MEMORY SQUARE
2 o BELLE'S FRIENDLY STARS big fish, and look carefully
' 1-D2-C3-A4-B 5-E through the seaweed!
£ ahag o 9 & |# |/ |&
N N N T U
F QS G; : X H Puzzle 26 Puzzle 3l
(’f TR s DON'T TRAP REMY! FAMOUS PHRASES # O/O & O/O
x Alufo[G €| D Q E On the third turn I The Queen in Snow White
o o 1 o e e B e and the Seven Dwarfs & O/O # 1t
8(NJOICIALEID H C XAME R L 2 Puzzle 27 2 Wendy in Peter Pan
o e MALEFICENT 3. The White Rabbit in Alice [ | & | # | &
3 in Wonderlkaond
Puzzle 23 4 Pinocchio in Pinocchio Puzzle 35
ALADDIN’S GREAT Puzzle 28 5. Prince John in Robin Hood NUMBER SQUARE
ESCAPE CODEWORD 6 Cruella in 101 Daimatians s 2%
S”‘"" — MAGICMIRROR 7. Maleficent in Sleeping 5 3 il 2 'I :
\T#xx Beauty Q4 | 1
{ ] Puzzle 29 8 Mufasa in The Lion King T " g
- - LOGIC GRID 9 MerlininThe Swordinthe | ik :
- | 2 ] K :
b ] | A| Stone : 2 |1 3
W - ) | ) (E) I0.Cinderella in Cinderella ¥ i T 5
R z i I
& | Puzzle 32 ] 3 . 2 :
— | WORDSEARCH ———
c__* | UKDN TCOoOXuBJpD 51 E§12 sx
k. 1
: i

“CUOTNO

.
A T XOAEBLXNM

ISl -
“ =

.

.

.

.

| .

‘7 Y I. v :

| el : .
ﬂ § 20 ST SN |
=% [ - ’ L S 3 ; M M [EREEEEEEET BT
’ I" F ¢ lo] F H 4+ -
} ! X 1IN R E iR ’
= I A DT} G L : :: 8
FINSH 3 “:tl & 5 LU s : :
KEC B”Z@Y OWWM 7@] ........................
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Puzzle 36
HOW A-DOOR-ABLE

IO¢.8- .8 = 26

There are 23 doors in total.

RN .8

Puzzle 37
THE SNOWBALL TREE

+ 4
-
30 () (8
RS B
Lo\ Fad e at -
el I DI Pl -
¥ ¥ w? 4P,
. Q ) LG ) (G 0
‘6. -;0 -;-
) 9 e Q > Sl

If two snowballs contain the
same symbol (two snowfiakes
or two crocuses), then the
snowball above them contains
the crocus symbol, whereas

If two snowballs contain two
different symbols (a snowflake
and a crocus), then the
snowball above them contains
the snowflake symbol

-
n'-
-

Puzzle 38

SCARED!

l. Tick-Tock the Crocodile
2. Heffalumps and Woozles
3. Dusty Crophopper has

164

vertigo (fear of heights)
cared of water/waves

Prehistoric chickens

That someone will steal

his honey

- O &

Puzzle 39

ENEMIES

1. Evil Queen - Snow White
and the Seven Dwarfs

2. Shere Khan — The Jungle
Book

3 Cruella - 10! Dalmatians
4 Ursula — The Little Mermaid
5. Captain Hook — Peter Pan
6. Mother Gothel — Tangled
/. Edgar - The Aristocats

Puzzle 4l

IT'S TEATIME
Tweedledum'’s version is
false, because If the Mad
Hatter drank more cups
than Alice, it means that
he drank at least 4; these
added to Alice’s 3 and the
White Rabbit’s 3 make 10,
but then there wouldn't
even be | cup left for the
March Hare to drink

So we know that
Tweedledee’s version is
true. The Hatter therefore
drank 3 cups and the
March Hare | That leaves
6 cups, and we know that
the White Rabbit drank 2
fewer than Alice Therefore,

If there are a total of 6 cups
left, the only possible solution
IS that Alice drank 4 cups
and the White Rabbit 2

To sum up: the March Hare
drank 1cup of teq, the
White Rabbit drank 2 cups,
Alice drank 4 cups and the
Mad Hatter drank 3 cups

Puzzle 42

ODD ONE OUT

C The lipstick 1s on the
opposite wing from all the
others

Puzzle 43

BEWARE OF THE HACKER
2|+|e]-[5]= 8
+ - +
al+[3]+[1]=- 18
+ + +
o|+[7]+[s]= i
+ + +

i @ 2

Puzzle 45

MADAM MIM’S CARDS

The 8 of Clubs. The cards
are the same suit In each
column, and the value of
the third card in each row I1s
the sum of the two previous
cards

Puzzle 46

2.1]3

N
+

—_
N

3
1

N
—
N

..............................

Puzzle 47

MISSING LETTERS
SARABI

ALISTAIR KREI
MARSHMALLOW
MOLLY DAVIS
AMPHITRYON

FRANNY FRAMAGUCCI
WINIFRED

HORACE BADUN
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Puzzle 48
LOGIC GRID

/A\l T\ 7o\ o\ l/‘\

"\A (B) (C) |,\l_)/l .\g )

SIONERS N

e N
| —
/I \_/

AR

AN
A
o

|
\

N
NS,

=
-/l

/U
N

Puzzle 49

THE CORN HARVEST
Pocahontas puts one cob in
the small basket, one in the
medium basket, and two

In the large basket. Then
she puts the small basket
Into the medium one, and
both into the large one.
That way, the large basket
contains all four cobs
(because it also contains a
cob for each basket inside
it), the medium one contains
two (including the one in
the small basket) and the
INstructions are followed by
having 1, 2 and 4 cobs of
corn in the baskets

Puzzle 50
ODD ONE OUT
A It is the only line in which
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Judy Hopps and Nick Wilde
are separated

Puzzle 5I
RIDDLES ... TO MUSIC
. Atooth 2 The eyes

S Ahand 4 A jumper
Puzzle 53

A TOY DOMINO

A-7 B-3 C-6

Puzzle 54
WORDSEARCH

URUWF LBJ(YNNEBHCJ

Puzzle 55

SUPER-MESS!

It Is possible to re-create

a square with the three
fragments, but the two
decorations will not be
identical. The reason is that
one of the pieces has to be
turned to fit alongside the
other, so the decoration on
those tiles will be sideways
compared to the others.

Puzzle 56

BIRDS

|- 2-F 3-B 4-0D
5-C 6-H 7-A 8-G
Puzzle 57

NUMBER SQUARE

...............................

= sSessssssssdesssseens

Puzzle 58
THE GENIE'S MAZE

B c

Puzzle 59
OFF WITH THEIR HEADS
. The intruder —)

s the 7 smilies
pecause the
smiley Isnt a
playing card
symbol

2. The intruder
s the Queen of
Hearts because b’
t's the only one o
that's not In
sequence o —)
3 The intruder is
the Ace of Clubs ‘
because Its the

only non-spades
card.

4. The intruder

s the 10 of Clubs
pecause Its the
only card that
doesn't have a
letter

Puzzle 60

THE CASEBOOK

Case |: Because there
are three thieves: @
grandmother, a mother
and a daughter. The
mother is, in fact, both a
mother and a daughter
Case 2: The fugitive used
the sewer system
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Puzzle 61 Puzzle 64 Puzzle 66 reached in varicus ways
LOGIC GRID WORDSEARCH LOGIC GRID following the rules given
NT=X &Y (RS T N NN e\ T e
WD®O©O®E | 5 : R ® ©® E Puzdess
,/'D "l" : =\ MAZE
\! \\ ] /
N a - -
2 v c 2
7 E X G S
® z T 9 EIRSEIN
@ o Ji O REENVEE
g ‘ b (=)
® ' N ® 513
Puzzle 62 Puzzle 65 Puzzle 67
MAZE NUMBER SQUARE A CHECKERBOARD WALTZ
1 START
A @,
? »2*\ Eve found 6 seedings
("\.
éb\"" : Puzzle 69
>y : MADAM MIM'S CARDS
3248, ; The ace of diamonds and
534 : the ace of spades, so that
S 2 ; each card appears three
»g,if . times
I IMNSY A AVNNYINY  Llememeseas .
2 ¥Rk Puzzle 70
Entrances 1 and 5 lead Tiana and Naveen can THE PYRAMID

Miguel to his guitar

Puzzle 63

RABBITS AND HARES
A-2 B-4 C-1 D-1
E-3
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never stop In the two
squares marked X Starting
from a tile with a dark
background, after moving
13 tiles, they have to stop
on a square with a light
background, because the
shades alternate. The other
three tiles, however, can be

19 white fish and | black fish
In each box, the number of
white fish is the total of the
white fish in the two boxes
telow it. The number of
black fish is calculated by
subtracting the number of
black fish in the two boxes
pelow it
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Puzzle 71

NUMBER SQUARE

12 3
3012

..............................

Puzzle /2

MUSIC MISSING WORDS
I-B 2-C 3-G 4-F
5-E 6-D ] - A

Puzzle 73

BERLIOZ AND TOULOUSE
é turns
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Puzzle 74

BEARS

|. C - Queen Elinor, Brave
2.D - Lotso, Toy Story 3

3. B - Baloo, The Jungle Book

To
Ny
(N

Brother Bear

4 A - Kodaq,
Puzzle 75
BEWARE OF THE POTIONS
Potion 1 contains joy

Potion 2 contains surprise

Puzzle 76

MAZE

Puzzle 77

NEXT

. Small Flynn Rider. The
first 4 characters repeat

2. Smdall Pascal There are
3 small characters, then

3 large, then 3 sm fxll

Srr ml Rapunzel
| large charc Lle
then 2 small

4 1big Pascal The
seqguence alternate:

There 1s

<md the order 1s H\,rn
,,,,, er, Rapunzel, Pascal

Puzzle 78
SEA CREATURES

Jacques 2 - Flounder

5 - Sheldon 4 - Sebastian
5 — Pearl 6 — Bailley
7 — Crush 8 — Hank

O

10 - Gerald

\ - \ 7
— Destiny

Puzzle 79
THE WAY TO SCHOOL

3

Puzzle 80
NUMBER SQUARE

---------------------

Puzzle 8l

JAQ AND LUCIFER
Lucifer will never catch Jag
They will always remain the
same distance from each
other

Puzzle 83

ANIMATED CLASSICS

NN

.

9

| _,)

A hornbill
Unbirthdays
D

Ihe Thunderbolt

Adventure Hour

6
8
9
1O
Il
12
13
14
15

. UZ;

Marie
A fox

When he is Prince A

D

Casey Jr

Stitch can't swim
A wood carver
His l\_. t eye

A

True

Zle 84

NUMBER SQUARE

....................

.........

..........
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Puzzle 85

PARENTS

Queen Leah and King
Stefan from Sleeping Beauty
Robert Parr and Helen Parr
from The Incredibies

Jm Dear and Darling from
Lady and the Tramp
George Darling and Mrs
Darling from Peter Pan
Anita and Roger Radcliffe
from 101 Dalmatians

Puzzle 86
DINOSAUR PRINTS

o ¥

There are 3 poses in total

Puzzle 87
MEMORY SQUARE

%[> 1%|[&]|%
&/ | | #
Y%/ % | >

#

%
&
& %
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Puzzle 88

REPTILES

1. Pascal — Tangled

2 Louis — The Princess and
the Frog

3. Tick-Tock the Crocodile -
Peter Pan

4 Larry - The Wid

5. Kaa - The Jungle Book

Puzzle 89

THE NATURAL HISTORY
MUSEUM

. Shere Khan from The
Jungle Book belongs in India
2 Mufasa from The Lion
King belongs in Africa

3. Meeko from Pocahontas
belongs in North America

4 Kuzko from The
Emperors New Groove
belongs in South America

5 Kanga from The Many
Adventures of Winnie the
Pooh belongs in Australia

1 animal each belongs In

India, Africa, North Americaq,

South America and
Australia. O animals belong
N China and the Arctic
Regions

Puzzle 20

THE WORLD OF SONGS
. Snow White and the
Seven Dwarfs

The Aristocats

The Lion King

The Jungle Book

Alice in Wonderiand
Encanto

7. The Hunchback of Notre
Dame

8 Dumbo

Q. Cars

10. The Sword in the Stone

OB WN

Puzzle 91

RATS AND MICE

. Remy from Ratatouille
2 Jaq from Cinderella

3. Emile from Ratatoulie
4 Gus from Cinderella

5. Mary, Perla and Suzy
from Cinderella

6. Basil from Basil the Great
Mouse Detective

7. Timothy Q. Mouse from
Dumbo

Puzzle 92

MADAM MIM’S CARDS

3. The 2 of heartsis the
wrong colour.

Bonus question, choose
from: Pig, Cat, Crocodile,
Fox, Chicken, Elephant,
Tiger, Snake, Rhino, Dragoen,
Human.

Puzzle 93

MATHEMATIC SUDOKU

7(1|3|2|5|6|9]|4]|8

8|s5|6|4|9|3|2|1]|7

4(2|9|1]|8|7|5|3]|6

2|(9|5|7|3|1|8|6]4

6(3|4|9|2|8|1|7]5

1(8|7]|6|4|5|3|9]2

s(4|8|3|7]|9|6]|2]1

9(6|2|5|1]|4|7|8]|3

3(7|1]|8|6|2|4|5]9

Puzzle 94

LOGIC GRID
0I0IGIGIGIG

{2\

U

@] 1]

O BEBEARAE

o EHEEEL

® )3

Puzzle 95

ROBOTS

I-E 2-D 3-J 4-H

5-C 6-B 7-J 8-A

9-1 10O-Gl-L 12-F
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Puzzle 97

TRANSFORMATION
I-C 2-A J3-E 4-)
6 -1 /-G 8-H

5-B
9-D 1O-F

Puzzle 98
UMBRELLAS
32

Puzzle 99

THE SEQUENCE

[here should be a small

grey umbrelia and a small

black umbrella in the

seventh line after the

big black umbrella

The sequence is made

up of 14 umbrellas: 1 black,

I grey, 2 black, 1 grey, 3 black,

I grey, 4 black, | grey

Thereis | large umbrella
very 10 umbrellas

Puzzie 100
NUMBER SQUARE
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Use this page to work out your answers



























Use this page to work out your answers



